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SN BB SRI(BI) - MIRAY - skl e s
o=l 4,480
— S22 014l 7,000& x16ZH x40 4,480
OZAES A SX 150,000& 12 1,800
202 O4Hl 31,440 30,750 690
01 =Wl 31,440 30,750 690
O bl 100,000 «16H 128 19,200
O&2 0l 85,000 x16H 9! 12,240
203 HRF&HI 4,200 4,200 0
04 BEASSEHRFEHI 4,200 4,200 0
ORN2IHRF4HI 350,000& 123 4,200
MRPES (M) (MY - SAIG/MHNE - DESF) ,000,000 800,000 200,000
LHEHHXI = ,000,000 800,000 200,000
LHEHHXI = ,000,000 800,000 200,000
701 JIEtI HE =3 ,000,000 800,000 200,000
01 JIEtSI AN ES ,000,000 800,000 200,000
O3gHY SE3H 8&=3 500,000,000& *14! 500,000
OSSN ZRAUB=HIIS SEIH &S 500,000,000& 14! 500,000
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